Name ﬁ ok e g’%‘ Date | Class

k-

4. Calculate the amount of heat needed to convert 96 g ol ice at —24°C to
water al 28°C. The specific heat capacity of H,0(s5) is 2.1 J/g-°C.

SECTION 17.4 CALCULATING HEATS OF REACTION

1. What is the standard heat of reaction for the combustion of hydrogen sulfide?

Refer to Table 17.4 in your textbook,
2H,S(g) + 30,(g) — 2H,0(g + 250,{g)

2. Calculate the enthalpy change (in kJ) for the following reaction. State whether
the reaction is exothermic or endothermic. Refer to Table 17.4 in your textbook.

Cal{s) + CO,(g) — CaCO4(s)

3. What is the enthalpy change for the formation of hydrazine, N,H, (), from its

elements?
NL(g) + 2H,(g} - NLH, ()
Use the following reactions and enthalpy changes:
NH,( + 0,(8) —» Ny(g) + 2H,0()  AH= —6222K
Hy{g) +30,(g) — H,0()  AH = -2858k]
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